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(1) write in English.
(3) lacililate thc govcrnncnl oflicc work.

(l) summarise the ktng docuntents.
(.1) !!ritc according to lhc spccd ol. ralking.

0333

2. Sclccl thc fact thtt sltould
(r) It shourd be crcrri''e ;: 

tjlli"Jl]:: 
r.tlcnlion 

\\'hen prcparinr an ad'crrisc'rncnt usin-s rhc c.rr'urcr.
(2) It should consist of selcral lan-quages and it should be shofi.(-l) It shourd be crerti\e and orrr1. the numcricar inli)rm.tion shourd be incruded.

I t+t 11 should bc prcscnted privatcly iu)d thc rclc'ant ini,.,n"ti.n shoulcr bc arrangctl in a numcrcar ordcr.
3 To inlirr' the principal to panicipatc in thc pady that is organircd by your class at thc cnd ol thc rcrmv-oLl prcparc

(j) a lettcr. (2) ir nrcn](r. (3) rn advcrtlserncnt. (.1) an jnvitation.

4. Sclcct (he ans\!cr that indicr
(I.) kclboard anil printcr 

rrcs an Inpul d*iec antj.]l 
lfl':,,|;'::r:l 1r 

cornpulcr rcspccli!civ.
(3) monilol and keyboard (4) printcr ancl monikrr

-5. _Dincsha-movcd hcr lingcrs t)n thc honlc kcys ol.thc kcyboard as lirllorvs.

;;if':r"J ,:]l.g.;,jj..,hc 
.ight hand. small tin-qcr ot. the tcfi rrancr. ,-in-!r lingcr .f thc righr hancl, indcx ii,gcr

What is thc rvord shc has rypcscr.,
(l) llag (2) haf (j) hash (.1) rJash

6. Sclcct thc word that has bcr ,) wants ,;i 
tffi]|t ustng.nlv tn",.l;"'::,,1"t'and upPer kevs or the ke'vboard.

is (.1) s()ry

i 
t 

lff: 
rrc lhe corrcct lingcrs y.u should nrovc on (hc hornc kcys o| rhc kcyboarcr to lypcsct rhc word

' (r) Ring lingcr o| thc righl 
,hanf. ,srnarl. 

lin-!:cr 0f thc righr hrind. miijdrc lingcr or.thc right nancr(2) Srnail lioger (t' rhc left hand. ring linger of thc lcft hand. middle fin.qcr ol. the lclj hanri(3) Ring linger of thc IcIt hancr. smair 
'nrcr 

ol rhc r;1i ;.. mrddlc rinccr or.rhe lctr hand('1) Ring nngcr o| thc richr hancr. smr rir-rgcr of thc lc,ri-rranc. mrddrc tingcr of thc lcfi hand

qoiso3:r oe:e c.:io6ro 
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NB: (i)
( ii)

( iii)

(iv)

An.star all questions.

In eq(h (l thc quettions lm I n 40, pick otr of tltc ultt,rruttit <..s ). (l). (3). (.1)+tltith tott considcr us correcl or mov appropn{de.
Mark a cross (X) on the number corresponding to your choice in the ansrver sheelprovided.

Furrher insrru(iotts ure .qircn on rhe r>ur.k tl rhe ttntwer.rhcer. r..oIo, trtenr curtlirlt,.

l. Shorr hand methrds have been crclted to.

I See page tto.
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Il. Scvcral tlpcsct words and the rorvs ol thc kcyboard used to typcsct those words arc givcn in colunns X
ancl Y respectively.

X Y

large A - H,'mc kcy' and lorrer Lc1r,'nl,

l. hrll B - All homc kcys. upper keys lnd lorver keys

3. glass ( - Horne l.'1' and uppcr Lc1 . onl,

:l_ drcam D - Homc kcys only

When the rvords in column X arc nalched in corrcct order Nith thc rows of thc keyboard in column Y,

the answer ts

(l) A. C. B and D. (2) B. A. D and C. (i) C. A. D and B. (.1) C. B, A and D.

9. Scvcral typc of kcys in the kcyhoard and cxamples lirr cach type of key uc givcn in columns X and Y
rcspectivcly.

X Y

'I'vpewfiter keys

Numcric kcys

Arrow Kcys

Spcr irl lc).i

c

D

+J

S

T
-g

I

When the type ol kcys
ansrver is
(l) B. c. A. D.

in column X rrc matcl'tct1 in corrcct ordcr rvith thc cxitmples in coiunln Y. thc

(2) B. C. D. A. (l) C, B. A. D. ('1) C. B. D. A.

10. From the fi)llowing. select the rns\\rer that includes onlY Fnglish lirnts.
( I ) Tirnes Ne w Roman. Cambrian. Arial
(2) Abhaya. Nadcc. Timcs New Roman
(.l t \rrJrrnr. Akclctti. Crrnthtirttt
(.1) FM Abhaya. FM Nadcc. t\raliya

lt. Petry cashier had Rs. ll0 in hand as at 31.01.2016. On the same day Rs. 1890 had been rcimbursed to
pctty cashicr by thc rnain cashier. Sclcct lhc rnswcr that rcplcscrts the totrl pctty cash cxpenscs ol lhc

month ol' January 2016 and thc ameunt ol lhc pctty cash imprcst of thc institutc rcspcclivcly.
(l) Rs. 110 and Rs. I lt90
(2) Rs. I 890 and Rs. 2 000
(3) Rs. I ll90 and Rs. 2 110

(:l) Rs. 2 000 and Rs. I 890

'O ................... is thc particular amount of money thlt is givcn by thc main cashrcr

to €)............... ...... at thc bcginning ol l particular pcriod to spend on pctty cash

cxpcnscs.

Select the answer that shows the corrcct answers 1i)r the above and @ rcspcclivcly

(l) 'fhe reimbursemcnt of pctty cash imprcst. thc petty cash imprcst
(2) Thc pclty cash imprest. pctty cashicr
Ilr Thc pcll) el'hrcr- pettl (r\lr inrlrr.sl
(4) The petty cashicr, rcimburscnrcnt of pctty cush imprcst

1 5"" pug" tt,n,

12.
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l't liljJ: l:"::;"'- 
name that a pcrson *'h. is rn cxpcrt in secretari.r pracricc can hord liom thc tolorvin-q

I ( I) Markcting Manager
(-l) Oilice Managcr

't jt'-r-. is a tcchnical skill .l the pri'ate secretary .1 a lrcacr of an institutc whilc paticncc
... . .... lhat .he hir..

Sclect lhe aoswer that shorvs the coffect lns\lers fbr thc above O and izl rcspcctively.(1) -Ihc typcwriting skill. a human skill (2) Thc hunan skill. a tcchnjcal ski(3) using r.x mrchinc. a tcchnicar skiri i+j ri" ,rur, runnn r ncss. a hum.n skill

0333

(2) Human Rcsources Managcr
(4) Chief Exccutive Oflicer

methods used only tirr internal communicati0n of an

(2) Mcno. Bcll. Fax machinc
(4) Notice'board. Intcrconl. Memo

rl5. Select.the answcr that includes conlmunication
Instllutton.
(l) I-cttcr. 'lclcphonc. Lccture
(l) Noticcboard. Fax maclrinc. Circular

lt6 O and .............
rhe head of an instilution. are two pccrs of the privatc sccrctary of

17.

Select the answer that shows tlre corcct rnslvers titr thc ab.ve 11 and o rcspcctil.eJy.( l) Clcrk. Computcr Opcralor (2) Manage rncnt Assistant. Oflicc Aicl(l) Watchcr. Ollicc Aid (,1) Ol.licc Aid. (.omputcr Opcrrr()r

Situations tltat should bc coDsidcr
rhr)(. (,t',,.r,,\6. , "cd whcn organizin-t a rnccting and lhc functions lhtt should bc doncthosc srtuations lrc gilc,n in coiurnns X and y rcspcctivciy

whcn thc situations in column X arc miitchcd in corrcct ordcr with thc linrctions in c.iumn y. rhc ansrvcr is( l) A. B and C. (2) B. A and C. (3) ts. C rno .q. (.1) C. A anci B.

(i) Rular bar. (2) Srandrrd roolb r. (3) Fonnarting toolbar. (.1) Drawing knlbrr.
r20 A lctter,typcsct-in the cornputcr has to bc prcparcci 1. bc scnt t. varrous postll acrdrcsscs. .r.his 

caneasily rchievcd b1.

(l) sending e_nails. (l) ntait mergrng.(3) uploading in to a wcb page. (.1) uploadrng rn k) a f.accb(xlk.

-;,e t^;

2J Folillrving arc a l'crv ad'iccs that rtas rccci'ccl by scnlka who wantcd to typesct thc l.pic .r (()cumcntin the nri,lJlc,'t lhc lile. 
f-lA First click on thc i.,,n ,'t iE I centcr. thcn typcsct rhc topic.t-l

B Firsr typcscl thc topic rhcn sclect ir and click on thc ,.,,n nl l: l ..nn_r.t-l
c First typcscl thc topic then put thc cu.sor rr thc bcginning of thc topic ,ncl prcss the spacc baruntil it comes io the middle.

t:,:o. thc.ans\!,cr that include.is correct advice/advices out ol the abo\,c.

. 
t'' 't "1' (2) A and B onll (3) ts antt c oniy (4) A. B and c a,

in

llJ Conrputcr solirvarc can bc dividcd into t\\'o -qroups as a! ....................... and t.2) ........ .Select the answer that shows lhe correct wofds tirr the above O and rl rcspcctivcl,v.(l) Hardwar.e, Softrvlre
(l) Hardrvare. Li'ervarc 

(2) Input dcvices output dcviccs
(-1) Systcrn Solirvar.e. Application Solnvarc

be

A Prepare itttcndancc shcets
L l3efirre the mecting

2. On thc nlcering da) B - Prepare rcpor.t ol the ntceting
3. Atier the mcctin-ll C - Prepare agenda ofthe meetin
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The cursor was in bctwccn thc two words 'Sustainabie Dcvclopmcnt' in a MS Word

firllowing activities will not delete the word "Sustainable"?
(l) Prcss thc backspace key of the keyboard scvcral timcs.
(2) Sclect both rvords and prcss any typewriter kcy ol' thc kcyboard.
(-l) Sclcct the Nord Sustainablc and prcss thc dclete key ol thc kcyboarrl.
(.1) Prcss thc lcf{ arrow kcy of the keyboalci scvcral timcs.

The icon O in the MS Word is in thc standard toolbar and thc icon 12)

is in the formatting kx)lbar.

(3)

(l)

the answer

l:''l
l.-l

(,)F E
(1,=@

Sclcct thc answcr that does not includc a lunction ol' a mousc of conputer.

that shows the correct icon fbr the above !! and.?l placcs respectivcly.

r=1

l-Bl

Follorving are statcmcnts lbout drarving a boarder in a MS Wortl docurrcnt.
A Boarder can be clrarvn lround a text.
B Boardcr can bc drarvn lround a parirgraph.

C Boardcr can bc drawn round a pictulc (an inlagc).
Select the ans\\'er that includer's the correct statement / state mcnts mcntioned above.

In a docuncnl prcparcd in thc MS Wold Hcldcr ancl Footcr arc uscd kt.
(l) dcvelop thc imagc of thc clocumcnt.
(2) know thc staning point and thc cnding point ol thc pa-r.rc.

(3) scparalc a page liom iinothcr pa!:c.
(,1) shorv thc hcadcls and footers ol thc printing copy.

To add a ncw prragrrph to a documcnt prcparcd in MS Word thc kcy that should used is

(l) Entcr kcy. (2) Spacc bar. (.1r Shift key. (,1) Page dorvn kcy.

I,rom rvhich toolbrLr in thc MS Wrrd can thc lont lnd thc limt sizc of a docunrcnt be changcd'l

ll. Thc total raluc of thc cclls Al and Bl of a sprcad shcct hi,LS to be in thc ccll Cl.'lhc lbrmula that should

be written in thc cell Cl is

22.

23.

25.

26.

Select

(I) Cop)'. Prstc. Dirtl cntcring
(3) Cu1. Pastc. Rctrieving

(l) A rtnl,v
(il) B antl (l onll

(l) Drawing t(x)lbar
(3) Formattinlt tool bar

(l) Prcparation ol top nar.gin
(3) Preparation ol lcli margin

(2) Sclcct. f)rag. Nunbering
(4) Selcct. Drag. Drag and Drop

(2) A and C onl)
(4) A. B and C all

(2) Standard t(x)ibar
(.1) lask bar

(2) Prcparation ol bottom tn{rgiD
(.1) Juslifying the documcnt

Jo.umcnt. Which of thc

(,1) =Sum(A l-B | )

it is copicd into thc ccll (13

('l) =A3:B3

21.

lli.

29.

10.

Whcn sctting up a page ol MS Worci. rvhat will not bc an adjustmcnt of thc rnargins ol tlrc documcnt'l

Drop Caps cclitin.q tool is used to
(l) delctc all capital lcttcls of (hc document.
(2) start cich para-clrrph with a capital lcttcr.
(3) prcp{rc a largc lirst letter usin-s lcw lines for a prragrrph.
(4) use capital lcttcrs li)r thc rclcvant plrces.

(l) =Add(Al+Bl) (2) =Surr(Al:ts1) (3) =Sum(Al:Cl)

-12. The tirrnrula =A2+82 has bccn u,ritten in ccll C2 o[ a sprcad shcet. Whcn
the tbrmula is

(l) =A2*Br

f,(l," pnt" 1".

(.2 ) =A.r'B-l (3) =A2*:Bl
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The formula =Sum(Dr:D5) has bcen written in thc ccll D6 of a sprcad shcet. It mcans(l) thar rhe roral value of cells fiom Dl to D-5 is in celt D6.(2) that the rotal value of cells tiom Dl to D6 is in cell D6.(3) that the toral valuc of cells Dl and D5 is in cell D6.
(.1) that thc rorai value ol'cclls Dl and D6 is in ccll D6.

13.

34.

-15.

-fhe last column ol a spreacl shcct is
tt) x7.. e) AZ. 13) x27.. (,1) XFD.

Follorving is a sclccted cell rlngc of a spreacl shcct. sclcct the correct answcr that shorvs thc con.ect ce
mnge.

Dri

(r) 82 D2 (2) B2:D,1 t-l) Bl:Dl (.1) 82 D.l

A boarder has to bc inscrtcd only atourtd a lablc which has bccn prcparc'cl ln a spread shcct. lhc iconr rc.ns.h,rUlJ b( sclretLd Ii'r thut rs :rr|

(ll (l) (3) (.1)

Select the answcr that indicates only Enirlish shorthand melhods.
1l) Pilman Shorthand. Creagc Shofthand. I_orcnce Shodhand
(2) Pitman Shorthand. Grcrge Shorthand. Sloan Shorthand
(3) Pitman Shorthand. Sftrln Shorthand. Clnter Shorthand
(4) Cantcr Shorthand. Crcagc Shonhand. Lorcncc Shonhand

whcn rvriting in shonhand' horv shoulcr you inclicate a word that bcgins rvith a c{pitar rettcr?(l) Wlitc a circlc a(runcl thc rclcvant slrokc.
(2) Write trvo light dlshes undcr thc rclcvrnt strokc.
(3) (lut lhc stlokc using trvo light dashcs.
(.1) Writc thc strokc largcr th{n thc othcr strokcs.

-19. In Pitnan shorthrnd. th!'vowcls arc rcprcscntcd Uy Ot ........................ and i2) ..... ... . .... wrrttcn
alongside thc cclnsonant strokes.

Sclect the answer that shows the correcl words li)r the above (D and @ rcspcctivcl).(1) heavy. light (2) dots. qasncs
(3) \traitht lincs. curvcs (4) sounds. strokcs

.10. Fron thc lirllorvin-q c-mail addrcsscs. a Sri Lankan c ntail aclcrress rs

36.

38.

( I ) pcrcra(aryahoo.com
(3) scDcvi (a acruto.lk

(2) silva(4.gmail .com
(4) bandara@loutlook.com

| 5"" Irrtf" f ;
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General Certificate of Education (Ord. Level) Examination, December 2016

g.a.'i oC<r6J.rJ,J*5€ enr I'gc,'6fnl:iir - C.qg I, II
r6lriir €U6-r5ooruu0tb-dJ@rdr 6tlt.i'G;lo(Ur$ErLil cnidotrr-, l,II
Electronic Writing and Shorthand - English I,II

Electronic Writine and Shorthand English II
iii Ansrvcr five questions alk)gether including the first. Select at least one question each lrom

pan l. lI and III.

l. (i) (a) Write two typcs ol documcnts that arc uscd by a busincss organization to collccl information.

(b) Name tvo rcports thi,rt nrc prcparcd by business instituti()n\.

(ii) (a) Write two situations that thc compulcr slstcn Lr\ed in an ofllanizalion cln bc damagcd.

(b) Write rcmidics that can bc uscd to irinimizc cach damage you mcntioncd in (ii) (a) abovc.

(iii) (a) Wfite tvo \itLllltions thtt use linmal oral communicalion and two \ituations thilt use ti)rn'tal $ritten
conr mu n icati()n.

(b) Wrilc two udvanlages of using the uritlcn communication media rilthcr than using oral communication
nlcdia in thc proccss oI oflicial cominunicltion.

(iv) Dra$ thc organi/lrtional structurc o1- ;-our school or institutc in an orglrrirationrl chan.

(v) Thushari rho is thc priv tc sccrctary oI thc hcad oi thc institution. is pr.cprring r prcscnlation with
crlculrtions usin!: thc conpulcr.

(a) write two computcr solirarc I'ou rccornnrcnd lirr hcr usc.

(b) Il' a picturc should bc includcd in that prcscntation. writc ho\\ shc should includc thal picturc in
thc prcscntatlon.

1vi) (a) Write trvo dcviccs usc to s(orc dirta outsidc thc cotnpulcr.

(b) -A task thal can be donc by using lhc mousc. can also bc donc' using the kcyboard" Explain
using an cxamplc.

(!ii) writc thc lunctions ol cach of thc litllorving icons on thc dcsktop ol r c(nnputcr..

Ic] *:
{a.,

(l) (b) (c) (d)

2.

(r,iii) (a) write two typcs ol' grtphs lhat can bc creatcd by using MS Exccl.

(b) Write down two mathcmdticrl opcralors that can be applicd on t\vo nunrbers in sprcad shcet ol'
MS Exccl.

{ix) Write fbur rvo|cis that can lo typeset only using hornc kcys lnd lorvcr kcys in thc kc-v- board.

(\) writc lbllorving sentencc in shorlhand. "Wc inust do our oflicc work on timq".
(02 xl0 = 20 marks)

Part l - Secretarial Practicc

(i) A fax has been scnt by thc chicf cxccutive olliccr ol' thc tndunil Apprrcls (p\1) Linited (innpany

in Anrpara b thc Inarketing managcr of thc branch olficc ol thc company in Mrthara by infbrming
him to prnicipatc in thc progrcss revicw nrcctin-q of thc company to bc hcld on l0th Janulry 2017

al I0.00 a.In. i,rt the main ol'l'icc. An c mail has bccn scnt by the rnarkcting managcr to thc chicl'

cxccutivc ofiiccr immcdiatcly conlirming thc participation in thc mcclinS.

(l) Write thc scndcr. thc rcceiver. thc mcssiillc and the responsc ol thc above case.

I Set pu1;e sevn
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(i) Wrire down the stcps k) prcparc the abovc part named as O.
(ii) Mention forrr icons rvhich arc used to crcate {hc pan @ abovc.
(iii) Writc dorvn stcps laken to crcate thc part @ abovc.
(iv) Writc do|n tlo lnethods to add thc list namcd as @ above
(v) Write dorvn stcps to prcprrc the part O above.

(b) Write thc lcttcr that hacl bccn laxcd by rhc chief cxecutive olliccr of thc Inclunil Apparals CompanyLimitcd. (04 marksr(c) writc a similarity and a differcnce betwecn two communication methods of sending a lax message
and scnding an c,mail mcssagc. (02 marks)write t*o old methods of nring and two modcm orcthods of firing that can bc used to rire the

documents of a busincss organization. (02 marks)
tT0tal l0 marks)

sandamalec the petly cashier ol thc sitharr cornpany Limirccl is lllc pnvate sccretary ol thc chiclExccutivc Dircctor ol thc institute. Thc barancc oi petty cash as at 30 scptcmber 20r6 rvas Rs. lg0
Tl'rc amount ol pctty cash imprcst of the institutc ;i ni. r s0o. The pctty cash inprest is rcimbursedon thc hrst day of cach month.

3. (r)

L

(a) Explain thc tenn, 'pctty cash imprcst'. ((,1 mark)(b) What is meant by pctty crsh reinburscmentl (0t mark)(c) what is the amount rhat shourd bc reimbursca as ar 0t.10.2016'r (02 rrrarrsl(d) Is thc pctty clsh rcjntbursed by lvhom to rvhom? (02 martrs)
(li) A workshQp rvill bc hcld on JOth Dcccmbcr 2016 at the lactory to introducc thc ncw machrnc tothc employccs of thc production clivision and thc employecs rvho rvish to participate in that workshop

must put thcir signaturcs in thc signaturc shcct at the factory. This ,u", ,nnnunaa,l by thc production
manager throu.!:h thc intcrnal addrcssin-!: systcm. According to that. thc cntployccs nho tvrsn topafticipatc in thc workshop havc signcd thc signaturc shect.
(a) Write lwo comnrunication media that has been used in this case. (02 rnarrsl(b) write I comnlunicatir)n method that has bcen used in this institule tirr each cornmunicalion medrilyou wrote ti)r the (r) above. (02 rnarks)

(Total l0 marks)
part II _ Electronic Documentation

'I'hc lbllorving postcr has prcparcci using rvorcJ proccssing soli\,trc (MS Word) .

$9$ 
{EAR %Ouo, 

}o
Siripura villagers collaboratively

conduct the

l.
]o

NEW YEAR FESTIVAL

at public stadium.
'I'herc will bc sevcral clcnts such as

@

a Running Raccs

O Foot Bicycle Race

O Kcep Eye on Elephant

O Fancy Dress Making Conrpetition

You all are cordiallv invited ]o

(02 marks)

(02 marks)

(02 marks)

(01 marks)

102 rnarks)
(Tqlel 10 marbf

I Sae page eight.
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Thc lbllorving sprcad shcct shows r part oi a bill.
a3c

I

l

f

a

?

(i)

(r)
( iii)
(r\')

(v )

nem
Exercise Book

Foot Ruler

File cover
Bottle of

' 
otal

10% discount
Amount

Amount Unit

Il
Write down thc lirrmula to bc writlcn in the cell D3 in thc abtxc rvorkshcct to show thc total price

oi exercise books.

Writc dorvn thc casicst $ay to get the total priccs to thc cclls fiom D.l to D6.

Write dorvn the fi)nnula that should be rvrittcn on cell D7 b get the total of the bill. (02 marks)

Write down the firrmula that should be $ritten on cell Dli to gct thc discolrnt value according to the

btal bill value in the cell D7. (02 marks)

Thc paying amount should bc calculi,lted on ccll D9. Writc dou'n lhc lilrmula that should bc in ccll
D9. (02 marks)

('lbtal l0 marks)

(02 marks)

(02 rrirrks)

7.

Part III - Shorthand

(i) (r) Writc thc consonants that rcprcscnt b) light straight strokcs rvith tlrcir sotlDds.

(b) What is thc rulc ol'joing of consonants l

(ii) write the ti)llowing uords in shorthand.

(b) shadc

(d) mail

(02 mark!)

(02 narks)
(iii) Writc thc following phrascs in shorthand.

(a) Havc a bath

(b) pay thc moncy

(iv) Write the ti)llorving sentences in shorlhand.

(r) Thcy makc { cakc todal.
(b) Havc you find a jobl

(Total

(i) (a) Writc thc consonants thlt rcprcscnt hy hcavy straight str()kcs rvith thcir souncls.

(b) Narnc thc thrc'c vowcl placcs and thcir positions.

(ii) Write the lirllouing rvords in sho hand.

(b) trrith
(d) rnakc

(iii) Writc thc lbllowing phrrses in shofthiind.
(a) Pack thc bag

(b) Chcck thc lunch

(iv) Write the lbllo\\'ing sentences in shodhand.
(a) Wc rvill comc to thc pany today.
(b) Have they paid them.)

(a) tapc
(c) crmc

(a) date

(c) namc

(02 marks)

(0.1 marks)
l0 marks)

(02 rnarks)

(02 marks)

(()l nrrrk\)

(04 marks)
l0 marks)('Iotal


